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DAY	
  7	
  	
  	
  

Arithmetic	
  Questions	
  
	
  

	
  

	
  

	
  

	
   	
  

674	
  ÷	
  15	
  =	
  

12000	
  +	
  5000	
  +	
  _________	
  =	
  18300	
  

45.6	
  x	
  10	
  =	
  

82	
  –	
  62	
  =	
  	
  

4	
  x	
  7	
  x	
  3	
  

2	
  



	

	

	 	

	

	

	

1.	

Find	the	perimeter	of	the	shape	below.	

	 	 	 	 	 	 	 	_____________	(1	mark)	

												 	

2.		

	

	 	 	 	 	 	 	 ______________	(1	mark)	

3.		

Buses	come	once	an	hour	at	a	twenty	past	the	hour.	Sophie	
arrives	at	the	bus	stop	at	9:40am.	How	long	should	she	have	to	
wait	for	the	next	bus?	 	 	 	 		____________	(1	mark)	

	

	4.		

									

______________	(1	mark)	

5.		

A	square	has	four	sides.	One	of	its	sides	measures	67mm.	Work	
out	its	perimeter	in	cm.	

	

	

Perimeter	=	_____________	cm	

	 	 	 	 	 	 	 ______________	(1	mark)	

	

DAY	7	–	Reasoning	Questions	
	



	
  

	
  

	
   	
  

DAY	
  8	
  	
  	
  

Arithmetic	
  Questions	
  
	
  

	
  

	
  

	
  

	
   	
  

20%	
  of	
  3400	
  =	
  

60	
  x	
  70	
  =	
  

3.78	
  –	
  0.5	
  =	
  

6492	
  ÷	
  8	
  =	
  

12	
  ÷	
  (4	
  +	
  2)	
  =	
  



	
  

	
  

	
   	
  

	
  

	
  

	
  

1.	
  

Toby	
  has	
  	
  !
!
	
  of	
  £160	
  and	
  Paul	
  has	
  !

!
	
  of	
  £240.	
  How	
  much	
  more	
  

money	
  does	
  Toby	
  have?	
  

	
  	
  	
  _____________	
  (1	
  mark)	
  

2.	
  

Circle	
  all	
  the	
  improper	
  fractions	
  that	
  are	
  equivalent	
  to	
  4.	
  

!"
!
        !"

!"
        !"

!
          !"

!
          !

!
	
  	
  	
  	
  	
  	
  	
  

	
   	
   	
   	
   	
   	
   	
   	
  (1	
  mark)	
  

3.	
  Draw	
  lines	
  to	
  join	
  the	
  decimal	
  with	
  the	
  equivalent	
  fraction.	
  

	
  

	
  

	
  

	
  

	
  

	
   	
   	
   	
   	
   	
   	
   	
  

	
  (1	
  mark)	
  

4.	
  

Use	
  the	
  symbol	
  <	
  >	
  =	
  to	
  make	
  this	
  statement	
  true.	
  

25%	
  of	
  £300	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  15%	
  of	
  £400	
  	
  	
  	
  	
  	
  

	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  (1	
  mark)	
  

	
  

5.	
  

Bobby	
  and	
  Sue	
  are	
  sharing	
  a	
  cake.	
  Bobby	
  wants	
  to	
  eat	
  25%	
  of	
  the	
  
cake.	
  Sue	
  wants	
  to	
  eat	
  2/5	
  of	
  the	
  cake.	
  Sue	
  thinks	
  she	
  will	
  be	
  
eating	
  the	
  same	
  amount	
  as	
  Bobby.	
  Explain	
  why	
  Sue	
  is	
  wrong.	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
   	
   	
   	
   	
   	
   	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
   	
   	
  (1	
  mark)	
  

DAY	
  8	
  –	
  Reasoning	
  Questions	
  
	
  

0.75	
  

0.34	
  

0.7	
  

0.07	
  

0.04

3/4	
  

0.34	
  

7/100	
  

40/100	
  

7/10	
  



	
  

	
  

	
   	
  

DAY	
  9	
  	
  	
  

Arithmetic	
  Questions	
  
	
  

	
  

	
  

	
  

	
   	
  

578300	
  –	
  600	
  =	
  	
  

-­‐13	
  +	
  21	
  =	
  	
  

¼	
  x	
  16	
  =	
  	
  

7452	
  ÷	
  6	
  =	
  

7/9	
  +	
  5/9	
  =	
  	
  



4.	
  

Complete	
  the	
  prime	
  numbers:	
  

	
   3	
   	
   7	
   11	
   	
   	
   19	
  

	
  	
  	
  	
  

	
   	
   	
   	
   	
   	
   	
   	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  (1	
  mark)	
  

	
  

5.	
  

What	
  is	
  the	
  lowest	
  common	
  multiple	
  of	
  9	
  and	
  12?	
  

	
   	
   	
   	
   	
   	
   	
   	
  	
  	
  _____________	
  (1	
  mark)	
  

	
  

	
  

	
  

	
   	
  

	
  

	
  

	
  

1.	
  

Circle	
  all	
  the	
  multiples	
  of	
  4	
  listed	
  below:	
  

240	
   113	
   98	
   808	
   1800	
  

	
   	
   	
   	
   	
   	
   	
   	
  	
  	
  	
   	
   	
  	
  	
  (1	
  mark)	
  

	
  

2.	
  

List	
  all	
  the	
  factors	
  of	
  24.	
  

	
  

	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  	
  (1	
  mark)	
  

	
  

3.	
  

Tina	
  is	
  thinking	
  of	
  2	
  square	
  numbers.	
  The	
  difference	
  between	
  
them	
  is	
  11.	
  When	
  she	
  adds	
  them	
  together	
  the	
  total	
  is	
  61.	
  What	
  
two	
  square	
  numbers	
  is	
  Tina	
  thinking	
  of?	
  

	
   	
   	
   	
   	
   	
   	
   	
  	
  	
  	
  	
  ___________	
  (1	
  mark)	
  

	
  

DAY	
  9	
  –	
  Reasoning	
  Questions	
  
	
  



	
  

	
  

	
   	
  

DAY	
  10	
  	
  	
  

Arithmetic	
  Questions	
  
	
  

	
  

	
  

	
   	
  

35%	
  of	
  260	
  

1/12	
  x	
  3	
  =	
  	
  

0.7	
  x	
  12	
  =	
  

75342	
  +	
  3864	
  =	
  	
  

2	
  x	
  3	
  x	
  2	
  =	
  1200	
  ÷	
  _______	
  



	
  

	
  

	
  

	
  

	
  

1.	
  

	
  

	
   	
   ______________	
  (1	
  mark)	
  

2.	
  Write	
  these	
  numbers	
  in	
  descending	
  order.	
  

176,490	
   	
  167,940	
   174,609	
   169,470	
   10,740	
  

	
  

	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  	
  (1	
  mark)	
  

3.	
  Lloyd	
  works	
  for	
  165	
  days	
  of	
  the	
  year.	
  How	
  long	
  is	
  this	
  in	
  weeks	
  
and	
  days?	
  

	
   	
   	
   	
   	
   	
   	
   ______________	
  (1	
  mark)	
  

4.	
  The	
  table	
  shows	
  the	
  temperature	
  in	
  different	
  cities.	
  

City	
   Temperature	
  0C	
  
London	
   7	
  
Birmingham	
   -­‐3	
  
Edinburgh	
   -­‐9	
  
Leeds	
   0	
  
Cardiff	
   -­‐4	
  
Brighton	
   8	
  
Southampton	
   11	
  
	
  

What	
  is	
  the	
  difference	
  in	
  temperature	
  between	
  London	
  and	
  
Cardiff?	
  

	
   	
   	
   	
   	
   	
   	
   ______________	
  (1	
  mark)	
  

The	
  temperature	
  in	
  Birmingham	
  increases	
  by	
  140C.	
  What	
  is	
  the	
  
temperature	
  in	
  Birmingham	
  now?	
  

	
   	
   	
   	
   	
   	
   	
   ______________	
  (1	
  mark)	
  

5.	
  Polly	
  has	
  5	
  bags	
  of	
  sweets.	
  In	
  each	
  bag	
  there	
  are	
  21	
  sweets.	
  
She	
  wants	
  to	
  share	
  them	
  equally	
  between	
  6	
  people.	
  How	
  many	
  
sweets	
  does	
  each	
  person	
  get?	
  

	
   	
   	
   	
   	
   	
   	
   ______________	
  (1	
  mark)	
  

	
   	
   	
   	
   	
   	
   	
  

DAY	
  10	
  –	
  Reasoning	
  Questions	
  
	
  


